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[ 91454 G02 GO3 GO4 G22 G23 GO6 DEGREE=ARC(E.# J&¥ %k)
24 DEGREE=ARC £ [f] & = Myl

META:  G21 X=200 Y=0 Z=200 A=-180 B=150 C=0 D=0

% . G22X=300 Y=100 Z=200 A=-180 B=150 C=90 D=0
¥ =s5:  G23X=400 Y=0 Z=200 A=-180 B=150 C=300 D=0
[#5iz47: GO6 DEGREE=300

//
GO06 54

GO06 T=500 ZEMf 500 ZFF

GO6 t=VXX ZERF VXX 220 (5] 41:G08 MOV V400=#2000 GO6 t=V400 JNZERT 2000 ZFP)
GO06 1=P1.1 %5fF P1 N HL T

GO06 1=P2.0 Z51F P2 JYfILHLF

G06 0=P1.1 f#fr i 1 P1 N HL T (I ARG 1)

G06 0=P2.0 fifi% i I P2 NIk HF

GO06 SCAN=| BLHU A i {H, 7T V144-V150 H.o0H

GO06 SCAN=0 Ui Hi i LB, 47T V160-V166 HLytH

GO06 SCAN=RTC L ARG 2P, 77T V176-v179 HiyoH

G06 DEGREE=ARC Hl#% Ak = AHHK

GO06 DEGREE=35.2 Hl#% A\ ik 35.2 J&

GO6 REPOS=J#  J#ili I\ A7 FE 3G 0 5 A1 4K HOMERIZR B 285 ([ B HE )

GO6 REPOS=-J# J#h M\ F1 FE /)N J7 TA1 4K HOMERZE . 25 (1] 2K HELSF7)

GO6 REPOS=J1  J1 fll )\ A1 JE 38 I 75 A1 4K HOMEO JE% B 25 (1] 2K HL°F)

GO06 REPOS=-J1 J1 fll A £ BE sk /IN 77 7] $8 HOMEO J% S 24 11 EIIC L T)

GO6 REPOS=JH#  J#4h M\ A3 FE IS 0 7 114K HOMEREE . 245 (5] 21 = HL )

GO06 REPOS=-JH# J#4il IS FEIR /N 77 14K HOME# R 25 ([1] 21 155 HL )

GO6 REPOS=JH1  J1 Hl M\ F 36 0 77 1] #8 HOMEO JE& 3 25 ([m] 2] /5y L)

GO06 REPOS=-JH1 J1 il A A1 FE£ 3k /1N 77 T1 4% HOMEO Jgk 7 2% (5] 3] 57 HL )

//
GO7 164

GO07 VE=250000 3 /& 250000 ik 5

GO7 AC=250000 JIIi% & /& 250000 ki &EF0-F 7

GO7 DE=250000 /8% /% /& 250000 Ak &FF0-F 77

GO7 VPP=250000 & =& & 250000 ki 355

GO7 VP=20 ¥ VE J& & =i# 1) 20%, VE=VPP*VP*0.01

GO7 vp=VXX IHJF VE & &R vXX BN ZE, VE=VPP*VXX ¥t B ¥ {E*0.01
GO7 _hO=xx =& A

GO7 RCM=1 FTENIZITHE4, O NTHIZITIES

GO7 GCM=1 7R DL B M AL bR, 0 a5 Ak bndi i




GO7 MARKPOS_HERE X1=0 Y1=0 X2=100 Y2=100 F#X MARK A
GO07 MARKPOS X1=10 Y1=10 X2=110 Y2=110 VL MARK s
GO7 UNIT=1.0 #f#MEEE CHRAL mm)

GO7 P JH=XXXX FRiE J#f /1

//
GO08 F§ 4

GO8 XXXX: A% bR o AR 1L hnvERE, MEKETR /N 15 N7
GO8 ACALL XXXX i F XXXX #7325 %] GO8 END

GO8 END 45K

GO8 AJMP XXXX Bk#% FI| XXXX i&1T

GO8 FLTAB=# S fFpki% 2| T_#5 CfFigiT

GO8 IF VXX>=VXX ACALL XXXX L ST EPEC N# H i >=,<=,==,1=,>,<;(G08 IF VXX>=VXX
AJMP XXXX)

GOS8 IF_ELSE VXX>=VXX?ACALL XXXX:ACALL XXXX HAHIZ1TE 510, REEZEITE 55 ACALL N
VAR, AIMP NBkH:  (GO8 IF_ELSE VXX>=VXX?AMMP XXXX:AJMP XXXX)

GOS8 IFF 7 fi this

GO8 IF_ELSEF ¥ s b

GO8 MOV VXX=#XX %1% (57 Bl % GO8 MOV V10=#12 )(®.JC GO8 MOV V10=V12)
GO8 MOVF VXX=H#XX H&H£i% (7. Bl %L GO8 MOVF V10=#12.5)(#.7C GO8 MOVF V10=V12)
GO8 PRINT VXX T E[l VXX II1E, #HE R

GOS8 PRINTF VXX FTEJ VXX [I{E, ¥F e

GOS8 INT VXX TE\{_ZJZlﬁi{;‘ﬁ%%{i&***************************
GOS8 FLOAT VXX ?E%ﬁ[%:}ﬁ%y‘jY%,‘f—i************************

GO8 ADD VXX=VXX+VXX #¥ 7 BI%h#
GO8 SUBB VXX=VXX-VXX ¥ 7RI s
GO8 MUL VXX=VXX*VXX % 7 EIHC#
GO8 DIV VXX=VXX/VXX #&¥ 7 EI% A#
GO08 SQRT VXX=VXX &% STEIE v#

GO8 ADDF VXX=VXX+VXX % 7RI s
GO8 SUBBF VXX=VXX-VXX V% fi S7RI%CA#
G08 MULF VXX=VXX*VXX ¥F & SLEIE
GO8 DIVF VXX=VXX/VXX ¥F . SLEPEC v#

GO8 SQRTF VXX=VXX 7% i 7RI#CA#

G08 STO ﬁ}?ﬁij]*—g{ﬁ*************170317*************

GOS8 EXIT 1B i Aﬁ—ﬁ)\ Iﬂ;Fﬁ:—&*************170817*************
//
G09 54

GO09 COPYRIGHT ] &4t YN




G09 COM2=XXXX COM2 1K 3% XXXX F44
#4m: GO9 COM2=G00 J1=10 J2=10 J3=-90 J4=0 J5=0 J6=0
I il % R 4 21 5 Ah— ANzl #8 com,
GO9 COM2 10H  H:[1 2 & tH ox10
GO9 COM2 12H i1 2 Kt 0X12
GO9 COM2 13H i1 2 &Kt 0x13
GO9 COM2 14H  Hi[1 2 K iH ox14
G09 COM2 15H i1 2 &Kt 0X15
GO9 COM2 18H  Hi[1 2 K iH 0x18

GO9 ENC... SZAXHE M Ik ALERR R L HTE S, S5 BT Rl

/1

VXX: FRIT
#XX: LRI
FH P35 BT VO-V127,V400-V511
R CHIBHE A G RN ME, 77T V144-V150 Ho0H
EHU H o DR, 7T V160-V166 HLoGH
R AR A, 17T V176-v179 HoCH
BT B 1217 G AU R0 N s 1k, QRS AR R84 R IE L, 4REEnT N

T4

STA SR HZ 8 (H SERT A7 5 va18o s, IZ{E 012475 vi83 HotH, V183 k&R
STO SER# B E SEA /7 5 vi181 sy, 8 (EICIZF S visa oo, viss MG
RST SER $2 B8 (E SERT 47 5 v182 Mt H, B {HICIZ/7F 5 Vi85 ot , V185 HE/FiE R

v186: A1 i03 B i04 fEFR 2 HUHIT I, Vv186=0 B AN 5 FH(BRIN), V186=1 A )& H
V187: [RA7 5 RIARIRE BT 5% v187=1 I A3 I (BRIN), v187=0 i3

v188: KBRALIE 1L EIT R v188=1 WAt F (BRiN), v188=0 B i H

V189: MG ST v189=1 I A3 H(BRIN), v189=0 i} A

V143: 1217k TE (fHE Fl 0~400, H Z11&2K)

V142: Jik B8 IR E (Y ) 4~400, N 1EER)

V141: G41,G06 DGREE “FiE{i ({5 1L3HfE, A NIE )

V140: JHEERE (H3FE SO

Uity 11 X6} L 2 A7
(FH5 I GO6 SCAN=I, V144~V159,V192~V207:X] =4t N 0, T RAE N 1)
i00:p0 v144
i01:p1 v145
i02:p2 v146
i03:p3 v147



i04:p4
i05:p5
i06:p6
i07:p7
i08:P8
i09:P9
i10:P10
i11:P11
i12:P12
i13:P13
i14:P14
i15:P15

HMO:P16
HM1:P17
HM2:P18
HM3:P19
HM4:P20
HM5:P21

LPO:P22
LP1:P23
LP2:P24
LP3:P25
LP4:P26
LP5:P27

ALMO:P28
ALM1:P29
ALM2:P30
ALM3:P31

000:PO
001:P1
002:P2
003:P3
004:P4
005:P5
006:P6
007:P7
008:P8
009:P9
010:P10
011:P11

v148
v149
v150
v151
v152
v153
v154
v155
v156
v157
v158
v159

v192
v193
v194
v195
v196
v197

v198
v199
v200
v201
v202
v203

v204
v205
v206
v207

v160
vl6l
v162
v163
v164
v165
v166
v167
v168
v169
v170
vl71



012:P12 v172

013:P13 v173
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FLAGIO7:p7  v295
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/1
ML 7151
GO8 CCD2:
GO8 MOV V20=#0



G08 CCD2A:
G06 T=401//RCCD

GO8 IF V20==#0 AJMP CCD2A

GO08 END

& BT R T=401 B,

AN TR A

G20 X=300 Y=200 Z=270 A=0 B=150 C=0 D=0 MOV V20=#1
G41 X=300 Y=200 Z=270 A=0 B=150 C=0 D=0 MOV V20=#1

PN RSN ]

1,¥1464k, HEAEREFT T ENiO7:p7 v263
GO8 CSH:

G08 MOV V189=t0

G08 MOV V263=#1

GO8 END

2,547 P 3R FLAGIO7:p7 v295 1H
GO8 INSCAN:

G06 T=500

GO8 IF V295>#400 ACALL ZHOUO14
G08 MOV V295=#0

GO08 AJMP INSCAN

GO8 END

3,4l %k v295 15 KT 400 = F0 i H zHOUO14
G08 ZHOUO14:

GO06 0=P14.1

G06 T=400

G06 0=P14.0

G06 T=400

GO06 0=P14.1

G06 T=400

G06 0=P14.0

GO8 END

/1

c i% = b for,while 7E PFOP _ [ 523

(1141 4n:

int VO;

int V1=100;
for(V0=2,V0<V1,V0=V0+3)
{....}

[1)4F PFOP b [{) S :



G08 MOV VO=#2
G08 MOV V1=#100
GO08 AJMP FOR1
GOS8 LABEL1:

GO08 ADD VO=V0+#3

GO8 FOR1:
GO8 IF_ELSE VO<V1?AJMP LABEL1: AJMP LABEL2
GOS8 LABEL2:

(2141 4n:

int VO;

int V1=100;
for(V0=2,V0<V1,V0=V0+3)
{

if(V0>50){break;}

[2]7E PFOP L[ S2Hl
G08 MOV VO=#2

G08 MOV V1=#100
G08 AJMP FOR1

GO8 LABEL1:

GO08 ADD V0=V0+#3

GOS8 IF VO>50 AJMP LABEL2

GO8 FOR1:

GO8 IF_ELSE VO<V1?AJMP LABEL1: AJMP LABEL2
GOS8 LABEL2:

(3141

int VO=2;

int V1=100;

while(V0O<V1)

{
V0=V0+1



[3]4£ PFOP |1 SZH.:
G08 MOV VO=#2

G08 MOV V1=#100
G08 AJMP FOR1

GO8 LABEL1:

GO08 ADD V0=V0+#1

GO8 FOR1:
GO8 IF_ELSE VO<V1?AJMP LABEL1: AJMP LABEL2
GOS8 LABEL2:

(4145

int V0=2;

int V1=100;
while(V0O<V1)

{
V0=V0+1

if(V0>50){break;}

[4]7E PFOP L SZH -
G08 MOV VO=#2

G08 MOV V1=#100
G08 AJMP FOR1

GO8 LABEL1:

GO08 ADD V0=V0+#1

GOS8 IF VO>50 AJMP LABEL2

GO8 FOR1:
GO8 IF_ELSE VO<V1?AJMP LABEL1: AJMP LABEL2
GOS8 LABEL2:

/1

SR

FILE=INI /130 kAR

Parameter.ini /3 FR

510 [/ EE OB VUAT I 25 5D
////DH_PARAMETER:  //DH Z% (Ffi: Z=K; h K, d NEEE)



_h0=203;
_d1=80;
_h2=260;
_d3=80;
_h4=288;
_h5=64.5;
_d6=40;
////MOTOR_DIR:
_dirl=-1;
_dir2=1;
_dir3=1;
_dir4=-1;
_dir5=1;
_dir6=-1;
////JOINT_PUL:
_j1pul=320000;
_j2pul=326400;
_j3pul=326400;
_j4pul=320000;
_j5pul=320000;
_j6pul=320000;
////VELOCITY:
_ac=100000.0;
_de=100000.0;
_vpp=100000.0;
_vp=10;
////MODE:
_pve=8.887

/1PN A

/1PN REAUE
/153K T5 1

VLR A Ky
//HL ¥ — B8l 75 320000 Ak

/1IN
/[T L
/3 e

/[EFEFESE

/IR

/)0 NZRBON T, 1 RBONE Ak
//1 NFTEMRES, 0 AT EARAY
J Tk K B R T IR (4~400) (V142)

_getCodeMode=0;
_runCodeMode=1;
_prmTPUL=120;

_prmVLIM=2000; //GAL1 “FIE{E(V141)

//REPOS [[======= E BRI\ ffj [ =======

_rePos)1=0;

_rePos)2=0;

_rePos)3=-90;

_rePosl4=0;

_rePos)5=-90;

_rePosl6=0;

//IRQ [[=========t i Jf Fom==zm=====

_ilRQ=1 [VERZSRAATRETFOG: _ilRQ=1 f# /g X, _iIRQ=0 i REIF,BRIN 1;
_sIRQ=1 [IRBRAIAERETF 5% _sIRQ=1 1R, _sIRQ=0 L RETT, BRIN 1;

_flagSoftRst=1 /8 11 2 5 s ) 2R A R

B\ o;

_flagSoftRst=1 fi B¢ Jf,_flagSoftRst=0 i fig 5%,



_brkMotorEn=0 J/AE{ERE:  brkMotorEn=1 {# 8 F,_brkMotorEn=0 {# fg %, 2R IA 1;
//L”V”T //::::ZZZZZK#-FIgﬁ’fj::::::::::

_sLp0=175 /156 1 A IR BRA A B
_sLn0=-175 [1565 1 AR A A BR A A
_sLp1=90 VL WX

_sLn1=-90 1/ 2 Hl....

_sLp2=30 /5 3 ...

_sLn2=-180 /55 3 Hh....

_sLp3=175 //55 4 Hh....

_sLn3=-175 //55 4 Hh....

_sLp4=120 /1555 ...

_sLn4=-120 /1555 ...

_sLp5=359 /% 6 ...

_sLn5=-359 /155 6 Hh.....



